

Product Rule

To find $P'(x)$ when $P(x) = f(x) \cdot g(x)$

$$P'(x) = f'(x) \cdot g(x) + f(x) \cdot g'(x)$$

ex) $y = (3x-4)(x^2+6x-7)$

$$y' = 3(x^2+6x-7) + (3x-4)(2x+6) \dots$$

ex) $y = (3x+4)^{10}(2x-1)^8$

$$= 10(3x+4)^9(3)(2x-1)^8 + (3x+4)^{10} 8(2x-1)^7(2)$$

$$= 30(3x+4)^9(2x-1)^8 + 16(3x+4)^{10}(2x-1)^7$$

ex) $y = 3x^2 \sqrt{x^2+4x} = 3x^2(x^2+4x)^{1/2}$

$$= 6x(x^2+4x)^{1/2} + \frac{1}{2}(x^2+4x)^{-1/2}(2x+4)(3x^2)$$

$$= 6x\sqrt{x^2+4x} + \frac{3x^2(2x+4)}{2\sqrt{x^2+4x}}$$

If $P(x) = f(x) \cdot g(x) \cdot h(x)$

$$P'(x) = f'(x)g(x)h(x) + f(x)g'(x)h(x) + f(x)g(x)h'(x)$$

ex) $y = (3x+1)(x^2-4)(2x-x^2)$

$$\frac{dy}{dx} = 3(x^2-4)(2x-x^2) + (3x+1)(2x)(2x-x^2) + (3x+1)(x^2-4)(2-2x)$$

Quotient Rule

To find $Q'(x)$ when $Q(x) = \frac{N(x)}{D(x)}$

$$Q'(x) = \frac{N'(x)D(x) - N(x)D'(x)}{D(x)^2}$$

ex) $y = \frac{x^2}{5x^2-1}$

$$y' = \frac{2x(5x^2-1) - x^2(10x)}{(5x^2-1)^2} \dots$$

ex) $y = \frac{(2x+1)^3}{(3x^2-6)^4}$

$$y' = \frac{3(2x+1)^2(2)(3x^2-6)^4 - (2x+1)^3 4(3x^2-6)^3(6x)}{(3x^2-6)^8}$$

$$y' = \frac{6(2x+1)^2(3x^2-6) - 24x(2x+1)^3}{(3x^2-6)^5}$$

ex) $y = \frac{(2x+1)^3(2x)}{\sqrt{x^2+5x}}$

pg. 120
#13-19

$$y' = \frac{[3(2x+1)^2(2)(2x) + (2x+1)^3(2)]\sqrt{x^2+5x} - (2x+1)^3(2x)\frac{1}{2}(x^2+5x)^{-1/2}(2x+5)}{\sqrt{x^2+5x}^2}$$

$$= \frac{[12x(2x+1)^2 + 2(2x+1)^3]\sqrt{x^2+5x} - (2x+1)^3 x(x^2+5x)^{1/2}(2x+5)}{x^2+5x}$$